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Topic :-SEQUENCES AND SERIES

1. If Hy,H, are two harmonic means between two positive numbers aand b (a # b), A and

Hy+H

G are the arithmetic and geometric means between a and b, then ﬁ is
A 24 A 24

Vg )% )26 OF

2. Ifthe sum of n terms of the series 704 +5(704) + 7(704) +...and, 1984 — 5(1984) +5(1984)...

are equal, thenn =

a)5 b)3 ) 4 d)10

3. The sum of series 1 +%+£+1—;+i—2+ ... is equal to
1 1 1 1
a)2(n—1)+53=  b2n—5 )2+ d2n—1+5

4. Ifx,y,z are in HP, then log(x + 2z) + log(x — 2y + z) is equal to
a)log(x — 2) b) 2log(x — z) c) 3log(x — z) d)4log(x — 2)

5. Inageometric progression (GP) the ratio of the sum of the first three terms and first
six terms is 125:152 the common ratio is

1 2 4 3

a) = b)g ) = d)g

6. The sum of n terms of the following series 1 + (1 + x) + (1 + x + x%) +...is

— 4N I () 1— _ 1 — x™
3)11_); b)—x(i_i) c) a 2_;(2 ) d) None of these

7. Ifa, b, carein GP and loga — log2b, log2b,log2b — log 3c and log 3c — log a are in AP, then
a, b, c are the length of the sides of a triangle which is

a) Acute angled b) Obtuse angled c) Right angled d) Equilateral
. 2 .8 26 80 :
8. The sum of the series 3 + 5+ 55 + g7 +..tontermsis
a)n—(3"—1) b)n—5(1 -3 ) n+5(3"—1) d)n—3(3" 1)

9. Yoo (log—e'x)nis equal to
n:

PRERNA EDUCATION https://prernaeducation.co.in 011-41659551 | 9312712114



a)log. x b)x c)logye d) None of these

10. If S is the sum of an infinite GP, the first term a, then the common ratio r is given by

a—S S—a a S—a
a) S b) S C) 1—S d) a
. oo 2n
11. The sum of the series Y,,,—1 DT
a)e b)e™! c)2e d)2e7!

12. The sum of the series 1 + 3x + 6x? +10x3 +...co will be

1 1 1
) 1 _ 2 b)T VAt 22 A3
1 1 1 )
13. o + 2 —2)! + A(n— ) +...0018
2n1 2" 2" 2n?
A= D) e+ ) Voo
14. The sum of 11 terms of an A.P. whose middle term is 30, is
a) 320 b)330 c) 340 d) 350
15. If (2.3)% = (0.23)” = 1000, then ; — > equals to
1 1 1 1
a) z b)z ) 3 d)E

16. Ina G.P.if the (m + n)™ term is p and (m — n)™" term is g, then its m™ term is
1
a)0 b)pq c)\VPq d)>(p +9)

17. Iflogg(x + 3) — loggx = 2, then x =

1 3 2 3
a) £ b)g C) E d) — E

18. Sum of n terms of the series % + % + g + 1—2 +...1s
a)2™" b)27"(n—1) 2"(n—1)+1 d)2"4+n—-1

19. 7th term of an AP is 40. Then, the sum of first 13 terms is
a)520 b)53 c) 2080 d) 1040

20. The sum of n terms of two arithmetic progressions are in the ratio 2n + 3:6n + 5, then the ratio
of their 13th terms is
a)53:155 b)27 :87 c) 29:83 d)31:89
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